الاجابه النموذجيه 
Question Number One:
1. sickness      // hair loss
Any two of the following
2. dementia    // a stroke   //  other brain injuries
3. The new treatment works by blocking ………………………… cells to grow.
4.  brain scanner    / scanner 
5. neuroscientist 
6. + 7  any relevant answer
Literature spot:
1. Manolin reassures Santiago that they will fish together again
2. Kind /faithful / honest
Question Number Two:
A
1. world wide web    2. migraine     3. renewable     4. handicrafts
B.
spend time
C.
1 .     viable       2.   criticise 
Question Number Three:
A.
1. been thinking     2.  aren't working     3. are viewed 
B. 
1. Safwan said school provided children ……………………………
2. My younger brother is used to using his…………………………
3. The year when the second war ended in Europe was 1945.
Question Number Four:
A.
1. the      2 .   which      3. Will have found 
B.
1. The children are too late – the bus just left.   Or   left already.
2. Did you see Maram who attended a course in archaeology?
Question Number Five:
A
1. friendly        2.  benefits     3. would have       4.       nature .
B     +   C 
OPEN ANSWER 
